
Toyota ®Tacoma ®

2016-2017 Toyota ® tacoma ®

Fog Light Mount 

Installation Instructions

Fits (2) D-Series® Lights
*Lights sold separately 

kit includes

(1)  Mount #46566
(8) 8-32 x 3/4” Long SS Button Head Bolts
(8) 8-32 SS Flat Washers(6)  5/16” SS Nuts

(8) 8-32 Nylon Spacers
(8) 8-32 SS Nyloc Nuts
(4) 1/2” #8 Sheet Metal Screws

Thank you for purchasing Rigid Industries® products for your Toyota Tacoma. Installation is 
fairly simple with the right tools and good mechanical abilities. If you are not confident in your 
mechanical skills, please seek the help of a professional to perform the installation. Please read 
through all 
of these instructions and tips before proceeding with the installation. 
It is strongly recommended that this product be installed by a professional.

Important

Always disconnect any power sources connected to your  
vehicle before servicing fuses or electrical systems.



step 2

Remove factory vanity plate by 
decompressing compression tabs 
from the backside. See Figure2.

  Figure 2:

step 1

step 3

step 4

Behind factory fog 
light unclip factory 
wire harness, remove 
and save (1) Phillips 
sheet metal screw, 
and remove factory 
fog light. See Figure 1.

Hold Rigid Industries 
front plate in place 
and using a pick or 
equivalent mark (4) 
mounting holes to be 
drilled using a 13/64th 
drill bit. See Figure 3.

Step 4: Install Rigid 
Industries mount 
using (2) 1/2” #8 Sheet 
Metal Screws provided 
from the front side, 
and (1) saved Phillips 
sheet metal screw 
from the backside. See 
Figure 4.

***Note for colored Tacoma trim user may apply black paint to hide visibility See Figure 4.

  Figure 1:

  Figure 3:

  Figure 4:

  Figure 1.1:

  Figure 3.1:



step 6

Repeat Steps 1 – 5 for remaining fog light. 

  Figure 5:

  Figure 7:

  Figure 5.1:

  Figure 7.1:

step 5

step 7

Install Rigid Industries front plate using (4) 8-32 x 3/4” Long SS Button Head 
Bolts, (4) 8-32 SS Flat Washers, (4) 8-32 SS Nyloc Nuts, and (2) 8-32 Nylon Spacers. 
Spacers are to be installed on the (2) outer most mounting holes of the plate. 
See Figure 5.

Install Rigid Industries lights using hardware provided with the light. See Figure 7.



Follow us on facebook at 
Facebook.com/RigidIndustries

779 N Colorado St, Gilbert, AZ  85233 • 855-760-5337 • www.rigidindustries.com
PKG-IS-196-A

D-Series and Rigid Industries are registered and/or common law marks owned 
by JST Performance, LLC, a Delaware limited liability company d/b/a Rigid Industries.

Your installation is now complete.

Welcome to the Rigid Nation!

Wire your lights according to the instructions included with the light. 
Take care to avoid any heat sources and sharp or abrasive surfaces.

For warranty information, visit www.rigidindustries.com/about/warranty
WARRANTY INFORMATION


